
ШКАФ МОРОЗИЛЬНЫЙ HURAKAN HKN-RFS120 

1 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



ШКАФ МОРОЗИЛЬНЫЙ HURAKAN HKN-RFS120 

2 
 

 

Поз Наименование детали 

1 CABINET 

2 MACHINE SCREW M5*16 

3 UPPER HINGE 

4 819 STATNLESS SCREW M4*12 

5 ELECTRONIC CONTROLLER WIRING 

6 UPPER COVER STICKER 

7 TAPPING SCREW M2*6 

8 UPPER COVER SHEET 

9 UPPER COVER 

10 ELECTRONIC CONTROLLER 

11 POWER SWITCH 

12 LOCK 

13 LOCK SET 

14 819 STAINLESS SCREW M5*16 

15 HANDLE 

16 DOOR 

17 DOOR GASKET 

18 DOOR PIVOT 

19 CUSHION 

20 LOWER HINGE 

21 BACK GRID 

22 TAPPING SCREW M4x12 

23 CONDENSER SUPPORT 

24 CONDENSER 

25 FAN 

26 PE PIPE 

27 MACHINE SCREW W8*16 

28 WHEEL 

29 COMPRESSOR SUPPORT 

30 FILTER 

31 POWER CORD 

32 FAN COVER 

33 HIGH-PRESSURE TUBE 

34 COMPRESSOR SCREW M6*35 

35 DAMPER CUSHION 

36 COMPRESSOR 

37 PROTECTOR 

38 STARTER 

39 COMPRESSOR WIRING BOX 

40 ONE HOLE WIRE CLIP 

41 MACHINE SCREW COPPER M4 

42 INNER WIRING 

43 BUMPER BLOCK 

44 ADJUSTABLE FEET 

45 FRONT GRID 

46 PROBE WIRE 

47 EVAPORATOR SUPPORT (LEFT) 

48 EVAPORATOR 

49 PROBE CLIP 

50 845 STAINLESS TAPPING SCREW 4.2x13 

51 EVAPORATOR FRAME 

52 EVAPORATOR SUPPORT (RIHGT) 

 


